

$$b^r + 1r = r1 \Rightarrow b = \pm 1$$

سؤال 1

- 1

$$1) \Delta = -1 < 0$$

- 2

$$\Rightarrow z^r - rz - 1 = 0 \begin{cases} r - m^r + r = 0 \Rightarrow m = \pm \sqrt{r} \\ r - m^r - r = 0 \Rightarrow m^r = 2r \end{cases}$$

$$S = r\alpha + r = r \Rightarrow \alpha = 1 \Rightarrow \beta = r \Rightarrow p = \frac{m}{r} = 1 \Rightarrow m = r$$

- 3

$$\beta = r\alpha - r \Rightarrow \alpha = r \Rightarrow p = \frac{m-1}{r} = 0 \Rightarrow m = 1$$

- 4

$$p = 1 \Rightarrow \frac{m^r - r}{-m} = 1 \begin{cases} m = 1 \text{ و } r = 1 \Rightarrow \Delta = 0 \\ m = -r \Rightarrow \Delta = 0 \end{cases}$$

- 5

$$p \times \beta = r \Rightarrow \frac{r}{\alpha} = r \Rightarrow \beta = \frac{r}{\alpha} \Rightarrow S = m = \frac{r}{\alpha} + \frac{r}{\alpha} = \frac{2r}{\alpha}$$

$$S = r\beta + \beta \Rightarrow \beta = 1 \text{ و } r = r \Rightarrow p = r$$

- 6

$$S = r \quad p = r \quad \beta = \frac{r}{\alpha} \Rightarrow \beta^r = \frac{1}{\alpha^r} \Rightarrow \alpha^r + \frac{1}{\alpha^r} = S^r - r\beta = 1$$

$$h_{mm} = \frac{r_d}{r_0} = \frac{\omega}{\lambda} \quad \eta = 0 \Rightarrow \begin{cases} t = 0 & \alpha \\ t = \frac{1}{c} & \beta \end{cases}$$

$$n^r - r_m + 1 = r_m + 1 \quad \begin{cases} m = 0 \\ m = r \end{cases}$$

$$\begin{aligned} \therefore \begin{cases} n^r + m - r = 0 & \begin{cases} m = 1 \quad \beta \\ m = -r \quad \beta \end{cases} \\ n^r + r_m + r = 0 & \begin{cases} m = -r \quad \beta \\ m = -1 \quad \beta \end{cases} \end{cases} \end{aligned}$$